Child: Why do we have a leap year? 
Scientist: A year is the amount of time it takes the Earth to go around the Sun, and we've divided our calendar year into 365 days. However, it actually takes the Earth 365 days, 5 hours, 48 minutes and 45 seconds to go around the Sun. To deal with this difference, we add one day (24 hours) to our calendar every four years. This adjustment is not exactly correct, because it effectively adds 6 hours per year rather than the exact amount of the difference.


Criança: Por que temos um ano bissexto?
Cientista: Um ano é o tempo que a Terra leva para dar uma volta ao redor do Sol, e dividimos nosso ano no calendário em 365 dias. No entanto, a Terra na verdade leva 365 dias, 5 horas, 48 minutos e 45 segundos para completar essa volta. Para lidar com essa diferença, adicionamos um dia (24 horas) ao nosso calendário a cada quatro anos. Esse ajuste não é exatamente preciso, pois adiciona efetivamente 6 horas por ano, em vez do valor exato da diferença.




















